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Answer & Translation

[1~2] M£ ot=0 RS FOHIA ot=0lE 8?12 UASLICE 3 S=tEi2
M=o St=0 20| BOPRSLICE =20 ChZ & 12RH 3Y7X| O oty
7ot gAshs AMTEHA o] 8 o §F2= LigsHC o2 o &

= MEM FFEX (7). 2 ME = MEME E GLILL

(I'm learning Korean because | like this one Korean movie star. | got interested in
Korea because of her. Recently, a special travel package has been released where
you can go on a bike trip with her from 15t to 3™ next month. It is an event intended
to help neighbors who are financially struggling, so anyone can participate. So |

will also submit the application form soon.)
1. (1) 0l E0Z 7P XHAE 2 BS A=EHAL.
1) &0 = UASLICE (to be able to participate)
2) EHOISHX| ZBtLICE (can't participate)
3) &ojstr| MEULICE (because you/he/she/they/| participate)

4) oSS LICE (I will participate)

2. Select the right choice according to the passage.

Jm

1)

Hot ol AEO|2kM ZHAO0| HIRLICE (It's a special travel package, so
it's expensive.)

2) M= o0l ol MHME W2 Z[Cte[2 ASLICE (1 already submitted the
application and I'm waiting now.)

3) BetHfRet 24 ot ol of € &S¢F & LICE (The trip with the movie

star will be three days.)

0=
o

4) 20|12 TELT 20| B

interested in Korea.)

BEOFA & LICE. (I study Korean, so | got
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3. Reassemble the following sentences in natural order.

7h d2fM M g0t 2XE A0 810 2L T (So | wear a cap/hat to go

outside every day.)

Lh 2XE A8 RQUX|TE QM MZE AFOFAIELICE (I looked for it hard, but |

couldn’t find it so | had better buy a new one.)

Ch ot=2| O &2 OfF EH sHREO| T EEZHESLICE (Korea's summer is very hot

and the sunlight is very strong.)

eh) 280 ofX X7t £0iste 2AHE SO H R LICE (But | lost the cap/hat that

| like yesterday.)

Answer : ChH — 7hH — 2h) = Lp

4. Reassemble the following sentences in natural order.

“h Mk XF 7KL Yes HEES 3 MELCH ('ve also been using
my current cell phone for three years.)

(Lh 8F HEE2 HIMFX|E 22 £ = UASLICL (These days the cell
phones became expensive, but they're usable for a long time.)

(Ch  H2E A3 HHRs 2 X @A O AEESE olslg = AS
LIC}. (It's not a good habit to change phones often, but | can understand
those people.)

(2h =M M7t or= AMEE2 e7HE0 o ¥ Hk WHEZZS BRELCH

(Some of my acquaintances change their phone every 6 months.)

Answer : Lh) - 7h - 2 - Ch
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AR RROF £l A2 ofESLICH OFEX e A HFIt &

(%
14
R
2t
ajo
|-EI

= YEO| ASLILE (1) 2d HZ MES2| O[0f7|& & S0FAL O M
Of FOIot= A= #0| O[0p7| ot AYLICL (L) 2|12 R= E=2 O[0F7[E
ot= A= FELULCL (D) X2BA] O|OF7[5HE OFS0| HA™HAM Q2 O|op7|& &
= AOM 2 TE = UASLILE (2)

(It's hard to become friends with the person you've met for the first time. However,
there is a way to make friends with them easily. That is to listen carefully to what
they say and talk about something that person likes. And it's also good to talk with
a smiling face. If you talk while smiling, it makes the other person feel more

comfortable, so you can talk about a lot of things and become close quickly. )

5. Otg 2F0l 071710 71 XAHAHR FE2S AE2HAML.

(Which part does the following sentence best fit in the passage?)

O|OF7|E & =0{F1 ZO0I5t= A2 Z0| O|OF7|SIH AC{Etol &A 0=
2 GLILCt (If you listen carefully and talk about what he/she likes, the other

person opens up easily.)
n ) 2 (v) 3) (=) 4 (2)

6. Select the right choice according to the passage.

1) 2= 9==2 O0|0F7|5t= Z0] ZEELICE (It's good to talk with a smiling

2) N8 Bt A= XF7E &2 = S LIEE (You can't be friends with

someone you met for the first time.)

3) Mg Ttoh Al B5eE A2 @S LICE (It's hard to talk with someone

you met for the first time.)

4) AE=

rlo

LS Ol St= AIEHZ HMOTLICL (People hate a talkative

person.)
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